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1) ITRILF—EE_BEtREFOHLEE XBxEEAER
EEE =
RE ERE HE (5 Pt
BE(F2) 65. 382 kwh 22.49 C02
v (%) 6369 003 kwh | 0-000344 2.190. 94 C02
%2 (LPG) 418.1 ke 3.00 1,25 €02
K738 0.0 L 2. 49 0.00 C02
i 200.1 L 258 0.52 C02
=@ 2 215.20 C02
(2) Foto_—_BibikFzHLEH=E
EREE =
RE ERE HEH R Bt
DDP 7705 L 232 17.88 C02
KE 612 m3 0.36 0.22 C02
e 18.10 C02
00285t D+ @ = ( 2.215.20 + 18.10 ) = 2,233.30
3) MEREDEAH=
H4 X FRME Ad4BEHRE BEtHE
A3 5. 000 10, 000
A4 182, 000 182, 000
= > : 192, 000 #
B5 0 0
2 BEEVOHHE
IEH HHE & 5
SR = 450 1000 450 ke
TR = 2 0 0.0 0 ke
A=A 0 00 0 ke
117 = 3 0 0.0 0 ke
=X11 450 kg




